BP DAV PUBLIC SCHOOL , PHARATHIA
GARHWA
“ HOME ASSIGNMENT”
CLASS:- LK G ( Prepared by Mrs. Shobha Shukla)

S.NO. SUBIJECT HOME ASSIGNMENT
1 MATHEMATICS ORAL:-
. LEARN COUNTING 1 TO 10. https://youtu.be/fHgiNHxmB7c
° RECOGNITION OF NUMBERS 1 TO 10. https://youtu.be/fHgiNHxmB7c
WRITTEN:-
TRACE THE NUMBERS WITH CRAYONS. https://youtu.be/fHgiNHxmB7c
12345678910
2 ENGLISH ORAL:-
o RECOGNITION OF ALPHABETS A TO D. https://youtu.be/xK7ZHL L2EA
WRITTEN:-

. TRACE THE LINES.
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DRAW APPLE AND COLOUR lIt. https://voutu.be/hq3nynIIfQ|

DRAW BAT AND COLOUR IT. https://youtu.be/wbfsfFD cT4




DRAW CUP AND COLOUR IT. https://youtu.be/2tDxdL BP5U

EVS

1. What is your Name?
2. What is your father’s Name?
3. Where do you leave?
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